Løsning af diverse ligninger                             januar 2003 Bent Pagh


	( 1)  
[image: image1.wmf]xb

a

=


	
[image: image2.wmf]a

x

b

=


	( 2)  
[image: image3.wmf]b

x

a

=


	
[image: image4.wmf]2

a

x

b

=



	( 3)  
[image: image5.wmf]b

x

a

2

=


	
[image: image6.wmf]a

x

b

=


	( 4)  
[image: image7.wmf]b

a

x

x

=


	
[image: image8.wmf]12

33

xab

=



	( 5)  
[image: image9.wmf]c

b

x

a

=

+

)

(


	
[image: image10.wmf]c

xb

a

=-


	( 6)  
[image: image11.wmf]b

x

a

x

=


	
[image: image12.wmf]2

b

x

a

=



	( 7)  
[image: image13.wmf]x

b

x

a

=

+

)

(


	
[image: image14.wmf]1

ab

x

a

=

-


	( 8)  
[image: image15.wmf]x

a

x

x

=


	
[image: image16.wmf]xa

=



	( 9)  
[image: image17.wmf]xb

ax

x

b

=

+

)

(


	
[image: image18.wmf]2

1

(1)

x

ba

=

+


	( 10)  
[image: image19.wmf]b

a

x

x

=


	
[image: image20.wmf]2

3

()

xab

=



	( 11)  
[image: image21.wmf]1

)

)(

(

=

-

+

x

a

b

a


	
[image: image22.wmf]2

1

aab

x

ab

+-

=

+


	( 12)  
[image: image23.wmf]b

x

a

x

=


	
[image: image24.wmf]2

a

x

b

æö

=

ç÷

èø



	( 13)  
[image: image25.wmf]x

x

b

b

a

=

+

-

)

)(

(


	
[image: image26.wmf]1

ba

xb

ab

-

=

--


	( 14)  
[image: image27.wmf]b

x

x

b

=


	
[image: image28.wmf]xb

=



	( 15)  
[image: image29.wmf]1

=

+

+

d

c

b

ax


	
[image: image30.wmf]cdb

x

a

+-

=


	( 16)  
[image: image31.wmf]ax

ax

=

2


	
[image: image32.wmf]1

3

xa

-

=



	( 17)  
[image: image33.wmf]e

d

cx

b

ax

=

+

+


	
[image: image34.wmf]deb

x

ace

-

=

-


	( 18)  
[image: image35.wmf]abx

bx

a

=

2


	
[image: image36.wmf]3

1

x

ab

=



	( 19)  
[image: image37.wmf]e

dx

c

b

a

x

=

+

+


	
[image: image38.wmf]ce

x

abde

=

+-


	( 20)  
[image: image39.wmf]abcx

abcx

=


	
[image: image40.wmf]1

x

abc

=



	( 21)  
[image: image41.wmf]22

xb

a

xb

+

=

-


	
[image: image42.wmf]1

xb

a

=+


	( 22)  
[image: image43.wmf]2

x

ax

x

=


	
[image: image44.wmf]1

3

xa

-

=



	( 23)  
[image: image45.wmf]bx

a

x

a

x

a

x

=

-

+

-

)

)(

(

2

2


	
[image: image46.wmf]1

x

b

=


	( 24)  
[image: image47.wmf]a

ax

x

=


	
[image: image48.wmf]4

1

x

a

=



	( 25)  
[image: image49.wmf]x

x

b

x

b

x

b

a

=

-

+

-

2

2

)

)(

(


	
[image: image50.wmf]xa

=


	( 26)  
[image: image51.wmf]a

x

x

a

2

=


	
[image: image52.wmf]1

3

xa

=



	( 27)  
[image: image53.wmf]22

ab

xc

ab

-

=

+


	
[image: image54.wmf]c

x

ab

=

-


	( 28)  
[image: image55.wmf]ax

x

a

=


	
[image: image56.wmf]xa

=



	( 29)  
[image: image57.wmf]22

ab

xc

ab

-

=

-


	
[image: image58.wmf]c

x

ab

=

+


	( 30)  
[image: image59.wmf]ax

x

a

=


	
[image: image60.wmf]1

3

xa

-

=



	( 31)  
[image: image61.wmf]22

()()

abab

xc

ab

+-

=

-


	
[image: image62.wmf]xc

=


	( 32)  
[image: image63.wmf]ax

a

x

=


	
[image: image64.wmf]3

1

x

a

=



	( 33)  
[image: image65.wmf]e

d

x

c

b

x

a

=

-

+

)

(

)

(


	
[image: image66.wmf]abcde

x

cea

+

=

-


	( 34)  
[image: image67.wmf]x

x

x

a

a

1

=

×


	
[image: image68.wmf]3/4

1

x

a

=



	( 35)  
[image: image69.wmf]b

x

a

a

=


	
[image: image70.wmf]3

2

xab

-

=


	( 36)  
[image: image71.wmf]abcx

abcx

=

1


	
[image: image72.wmf]1

x

abc

=



	( 37)  
[image: image73.wmf]b

a

x

=


	
[image: image74.wmf]2

xab

=


	( 38)  
[image: image75.wmf]abcx

abcx

abc

=


	
[image: image76.wmf]1

x

=



	( 39)  
[image: image77.wmf]a

x

a

ax

x

x

=

+

)

(


	
[image: image78.wmf]1

x

aa

=

+


	( 40)  
[image: image79.wmf]1

()

abxabx

x

-=


	
[image: image80.wmf]2

3

1

ab

x

ab

æö

=

ç÷

ç÷

-

èø



	( 41)  
[image: image81.wmf]c

x

x

b

a

=


	
[image: image82.wmf]1

ab

xc

+

=


	( 42)  
[image: image83.wmf]b

a

x

x

=


	
[image: image84.wmf]1

x

=



	( 43)  
[image: image85.wmf]c

x

x

b

a

=


	
[image: image86.wmf]1

ab

xc

-

=


	( 44)  
[image: image87.wmf]a

xb

=


	
[image: image88.wmf]1

a

xb

=



	( 45)  
[image: image89.wmf]1

a

b

x

=


	
[image: image90.wmf]1

a

xb

-

=


	( 46)  
[image: image91.wmf]d

c

x

a

b

=

+

)

(


	
[image: image92.wmf]1

b

d

xc

a

æö

=-

ç÷

èø



	( 47)  
[image: image93.wmf]()

bb

axcx

-=


	
[image: image94.wmf]1

1

b

ac

x

a

æö

=

ç÷

-

èø


	( 48)  
[image: image95.wmf]()

()

bb

axcx

--

+=


	
[image: image96.wmf]1

1

b

a

x

ac

-

æö

=

ç÷

èø



	( 49)  
[image: image97.wmf]d

b

cx

ax

=


	
[image: image98.wmf]1

bd

c

x

a

-

æö

=

ç÷

èø


	( 50)  
[image: image99.wmf]x

c

x

x

b

a

=


	
[image: image100.wmf]1

1

ab

xc

++

=



	( 51) 
[image: image101.wmf]b

a

x

=


	
[image: image102.wmf]ln()

ln()

b

x

a

=


	( 52)  
[image: image103.wmf]xx

abc

=


	
[image: image104.wmf]ln()

ln()

c

x

ab

=



	( 53)  
[image: image105.wmf]c

b

a

x

=

+


	
[image: image106.wmf]ln()

ln()

cb

x

a

-

=


	( 54)  
[image: image107.wmf]c

b

a

x

=

+

-

)

(


	
[image: image108.wmf]1

ln()

ln()

cb

x

a

-

-

=



	( 55)  
[image: image109.wmf]ppq

abx

=


	
[image: image110.wmf]()

p

q

xab

=


	( 56)  
[image: image111.wmf]p

q

p

a

x

b

=


	
[image: image112.wmf]p

q

a

x

b

æö

=

ç÷

èø



	( 57)  
[image: image113.wmf]r

q

p

ax

x

x

=


	
[image: image114.wmf]1

pqr

xa

+-

=


	( 58)  
[image: image115.wmf]p

r

q

x

ax

x

-

=


	
[image: image116.wmf]1

pqr

xa

-+

=



	( 59)  
[image: image117.wmf]a

q

p

x

x

=


	
[image: image118.wmf]ln()

ln()

a

x

pq

=


	( 60)  
[image: image119.wmf]b

x

a

=

1


	
[image: image120.wmf]a

xb

=




2/2

_1103882607.unknown

_1103884091.unknown

_1103887583.unknown

_1103887818.unknown

_1103888557.unknown

_1103888756.unknown

_1103907365.unknown

_1103907567.unknown

_1103888896.unknown

_1103888897.unknown

_1103888800.unknown

_1103888895.unknown

_1103888685.unknown

_1103888715.unknown

_1103888584.unknown

_1103888545.unknown

_1103888546.unknown

_1103887819.unknown

_1103888544.unknown

_1103887630.unknown

_1103887733.unknown

_1103887734.unknown

_1103887650.unknown

_1103887596.unknown

_1103887615.unknown

_1103887584.unknown

_1103884957.unknown

_1103885179.unknown

_1103887482.unknown

_1103887492.unknown

_1103885924.unknown

_1103886373.unknown

_1103885180.unknown

_1103885010.unknown

_1103885047.unknown

_1103884982.unknown

_1103884884.unknown

_1103884917.unknown

_1103884936.unknown

_1103884895.unknown

_1103884187.unknown

_1103884188.unknown

_1103884459.unknown

_1103884186.unknown

_1103884185.unknown

_1103882847.unknown

_1103884000.unknown

_1103884033.unknown

_1103884058.unknown

_1103884012.unknown

_1103882960.unknown

_1103882961.unknown

_1103882959.unknown

_1103882730.unknown

_1103882793.unknown

_1103882818.unknown

_1103882745.unknown

_1103882680.unknown

_1103882706.unknown

_1103882653.unknown

_1101894954.unknown

_1102188704.unknown

_1102970506.unknown

_1103613269.unknown

_1103882559.unknown

_1103882583.unknown

_1103614256.unknown

_1103614814.unknown

_1103716139.unknown

_1103614757.unknown

_1103613284.unknown

_1103613303.unknown

_1102971557.unknown

_1103613253.unknown

_1102971496.unknown

_1102340591.unknown

_1102340891.unknown

_1102341213.unknown

_1102341509.unknown

_1102342204.unknown

_1102341412.unknown

_1102341160.unknown

_1102340767.unknown

_1102340008.unknown

_1102340368.unknown

_1102340409.unknown

_1102339686.unknown

_1102339759.unknown

_1101897502.unknown

_1102187898.unknown

_1102188100.unknown

_1102188350.unknown

_1102187812.unknown

_1101895199.unknown

_1101897493.unknown

_1101895363.unknown

_1101894974.unknown

_1101893429.unknown

_1101893973.unknown

_1101894611.unknown

_1101894754.unknown

_1101894767.unknown

_1101894805.unknown

_1101894640.unknown

_1101894468.unknown

_1101894527.unknown

_1101894409.unknown

_1101893660.unknown

_1101893869.unknown

_1101893515.unknown

_1101892950.unknown

_1101893022.unknown

_1101893092.unknown

_1101892992.unknown

_1101892860.unknown

_1101892911.unknown

_1101892683.unknown

_1101892794.unknown

_1101892812.unknown

_1101892664.unknown

